Grundflache, Geschossflache

Projekt: Groeneveld, Heiko_NB eines NG_PR 352-07-13

Ersteller: monika

Datum / Zeit: 16.10.2013 / 13:19

Hinweis:

Bezeichnung Abmessungen Grundflache [m?] Geschossflache [m?]

Erdgeschoss

Bebaute Flache 0.180%6.683 1,203 0,000
3.320*8.990 29,847 0,000

Summe Erdgeschoss 31,050 0,000

Gesamtsumme 31,050 0,000

Berechnung GRZ, GFZ

Grundstlicksflache = 600,000 m2
Grundflache = 31,050 m? Grundflachenzahl = 31,050/600,000 = 0,052
Geschossflache = 0,000 m? Geschossflachenzahl = 0,000 /600,000 = 0,000
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